Mate In Four Moves Puzzles

Wins
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1. Black to play 2. White to play 3. Black to play
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4. Black to play 5. Black to play 6. Black to play
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7. Black to play 8. White to play 9. White to play
Answers:
1.Rxb2+, Kal, Ra2+, Bxa2, Bd4+, Kbl, Qb2#  2.Qd6+, Ke8, Rxeb+, fxe6, Qxeb+, Kf8, 3.Rd1+, Nel, Rxel+, Bf1, Ne2+, Kh1, Rxf1#
Bd6#

4. b3+, axb3, axb3+, Kc1, Ne2+, Kb1, Rd1# 5.Bg3+, Bxg3, hxg3+, Kgl, Rb1+, Rcl, Rxc1#  6.Qh2+, Kf1, Qhl+, Ke2, Qxg2+, Kel, Qf2#

7.Rh1+, Ng1, Rxgl+, Kxgl, Qh2+, Kf1, Qh1# 8.Bc7+, Ka8, b7+, Ka7, b8=Q+, Kxa6, Qb6#  9.Qeb+, Kd7, Bf5+, Kd8, Qd6+, Nd7, Qxd7#



